Number of clusters
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X axis : number of clusters determined by clustering algorithm



Pulse width over threshold
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X axis : pulse width over threshold (time duration that signal exceeded threshold level)
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Deposit energy on Nal
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Noise rejection cut
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In(MT)
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In(MT) — Neutron generator - KRISS

(Fit with Bi-Gaussian)
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In(MT) — Neutron generator - KRISS

(Fit with Bi-Gaussian)
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In(MT) — Neutron generator - KRISS (Fit with Bi-Gaussian)

(9 keV 10 10 keV) (10 keV to 11 keV)
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Additional DAQ for quenching factor measurement

PCT (1,1,2) is available for quenching factor measurement?
(far from deuterium target -> smaller direct neutrons compared to backgrounds,
x10 higher neutron generator power)

Test with PCT (1,1,2) and (2,2,4) both case with different neutron generator pogver
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Nal deposit energy vs t0
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Number of clusters
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Number of clusters (zoomed in X axis)
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Pulse width over threshold
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X axis : pulse width over threshold (time duration that signal exceeded threshold level)




Pulse width over threshold (zoomed in X axis)
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X axis : pulse width over threshold (time duration that signal exceeded threshold level) L



